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EHEERR DI [7A770h t=15cm m 4.8
EHAERRAEA (72770 t=15cm m2 0.7
RTEMALEL  [TAT 7 m3 0.11
%@%ﬁl@k% SGP9OA m 1.28
BERREAA 4L 5y [SGPI0A kg 12
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1. &HEERRYINT (7277 Vh t=15cm)

(0.35X2+0.50) X4

2. EHEERAR R (TA77Vh t=15cm)

0. 35X0.50X4

3. O AL

TAT7 7Lk
0.70X0. 15

4. BERXHEAKE BT (SGP9OA)

0.1016 X © X4

5. BERRERA ALY (SGPIOA)

0.3X4X%10. 1kg/m

6. =7 U— 1k (18-8-25H)
0.50X0.35X0. 15X 4
el

(0. 15X0. 10+0. 25X 0. 30) X 1/2X0.01 X4
7t /4X0.100°2X0.04X4

7. TR

(0. 35X 2+0. 50) X0. 15X 4

8. MM (¢ 100H)

0.14 X4

= 4.8 m
= 0.70 m2
= 0.11 m3
= 1. 28 m
= 12 kg
= 0.105 m3
= -0.002 m3
= -0. 001 m3
= 0.102 m3
= 0.720 m2
= 0. 56 m
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& B[R S ¥ (mm ) | EE| HE EE) T fi5#%& | NET
FHrWeb H 606[ x| 11,390 2 3]  13.805 41. 415
FAHrFg H 201 x| 11,390 3 3 6. 868 20. 604
Ut tWeb | [ 250 x| 2,200 2 4 1. 100 4. 400
UM R g [ 90[ x| 2,200 4 4 0. 792 3. 168
i REHWeb| [ 250 x| 2,200 2 2 1. 100 2. 200
REREMTRg [ 90| x| 2,200 4 2 0.792 1. 584
= &t 73.371
ZO  1.05 B (ZOMEH) 77.04
3. KT (BEEWRER)
- BFEIRL (1. 5kg/m2 A —H—REHEYFHEICL D)
1.5 X 77.04 = 115.6 kg
- PHF#ERR. > — M (1.8kg/m2 ¥ A—h—MEHVFHEICLD)
1.8 X 77.04 = 138.7 kg
> = 254.3 kg
« NI AE (FE:250kg/fH A —D—HZRYFAKIZLD)
254.3 / 250 = 1.02 1%
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11.45 X  6.81 = 77.97 m2
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